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The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Kp>Kg>Kg
(2) Kg<Kjy<Kg
3) Kjy<Kg<Kg
4) Kg>K,y>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K; + K,) for

the sphere is

1) 5:7
(2) 10:7
3) 7:10
4 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Moment of inertia

(2) Rotational kinetic energy
(3) Angular velocity

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Walking on the ground would become more
difficult.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Raindrops will fall faster.
(4) ‘g’ on the Earth will not change.
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A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence of_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1m/s, 3m/s

(2) 1m/s, 3-5m/s

(3) 2m/s, 4m/s

(4) 1-56m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0

for the block to remain stationary on the wedge
is

A
2

C B

g
1 =
D a=2

(2) a=gcos0

3) a= 2
cosec 0

(4) a=gtan0 N

A A A
The moment of the force, F =41 +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -4i-j -8k
A A A
(2 -7i-8j -4k
A A A
(3) -8i-4j -7k

A A A
4) -71i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0525 cm
(2) 0053 cm
(3) 0521 cm
(4) 0529 em
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HLAAC/KK/Page 3

SPACE FOR ROUGH WORK

English/Tamil



10.

11.

12.

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y

T

B
A
0] —T
2
1 —
D 3
1
2 _
(2) 3
2
(3) =
2
4 —
4) 7

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 8ecm

(2) 12-5cm
3) 13-2cm
(4) 16 cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule (m) = 2-76 x 10726 kg

Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1) 8360x10*K
(2) 5016x10*°K
(3) 2508x10*K

4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 20%

(2) 625%
(3) 268%
4) 12:56%
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(2) 6:25%
(3) 268%
4) 125%
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13.

14.

15.

A carbon resistor of (47 + 4-7) kQ is to be marked
with of different
identification. The colour code sequence will be

rings colours for its

(1) Yellow — Violet — Orange — Silver
(2) Yellow — Green — Violet — Gold

(3) Violet — Yellow — Orange — Silver
(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is 1.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

1 11

(2 20
3 10
4) 9

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and

each) which are connected in series.
the current I is measured. Which of the graphs

shows the correct relationship between I and n ?

I
(1 T i
0) —n
I
(2) Tf
(@) —n
I—
@ !
(@) —>n
I
4) T i
(@) —>n
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16.

17.

18.

19.

An em wave is propagating in a medium with a
velocity V = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) + z direction

(2) -y direction

(3) —zdirection

(4) —xdirection

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 45°
(2) 30°
(3) 60°
(4) zero

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards

the mirror, the displacement of the image will be
(1) 36 cm away from the mirror

(2) 30 cm towards the mirror

(3) 30 cm away from the mirror

(4) 36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 13888 H
(2) 1-389H
(3) 0-138H
(4) 13-89H

16.

17.

18.

19.
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20.

21.

22,

23.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

@D 2 (1+ e tJ
mVO

(2) Apt
3) 7‘—%

(1+ €20 tj

mVO

4) Ay
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1 10
(2) 30
3) 20
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1)
(2)
(3) 01

4) =2

When the light of frequency 2v, (where v, is

=1
=1

_ = N e

threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1) 1:4
(2) 4:1
3) 1:2
4) 2:1

20.

21.

22,

23.
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24.

25.

26.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric
vector perpendicular to the plane of
incidence

(2) i=sin! [1]
n

(3) Reflected light is polarised with its electric

vector parallel to the plane of incidence
4) i=tan" Elj
n

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(1) large focal length and small diameter
(2) large focal length and large diameter
(3) small focal length and large diameter

(4) small focal length and small diameter

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 19mm
(2) 2 1mm
3) 1-8mm
4) 1-'7mm

24.

25.

26.
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SHevgufed gemeilanereymid

(2) i=sin (EJ
n

(3) WGrduedliy aafl SIS 6 Ll 6trenlwieh
QeusL(pLarmar LHSaTsH D@ Genanrdeanaudled

SeredleneramiLd
(4) i=tan! (lJ
u

em arallud geflcdosd Csmame Crréswurarg,
i8ls
e eurie|b  CSTarTiy(hés,

Coremr o BLCAU@®BESWWL, 2wi  Gamewr

Sigen  QUTmHeT(HE

clldenewmerg

(1) <fs @elwusgmbd wHmb Aflu AL
Qamesrigmés Couam(Hibd

(2) <odls Gelwusgmpbd wLOHMID s
Qs ey (H&Es GoueiT(Hd

3) ©opbs GAwusHMTL wWHNL SHs LD
Qamesrigmes Couam(Hbd

4)  eopps @IUSHITD WHNID GpHs 6L b

Qs ey (H&Es GoueiT(Hd

L b

Wil Qerey  uMCangeanaruled

20 Qe
Gerays@péE @eLuurt d operg 2 mm.
LWETLESSILEDL geflider @@aBend A = 5896 A
wLHpL  HersEh
Qsreravey D e wdliy 100 cm. eueverwimigefler

Qereyd@d  @enL i L
Caranr s 0:20° 916Gz A womd D whHulns
0-21° oerey ofsfss,
Yerays@péE @eL il L Agraaaie GCsaeuuwirear
LTHOHLD

Camanr  Ss5MS

(1) 19mm
(2) 2'1mm
3) 1-8mm
4) 1'7mm
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217.

28.

29.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of Ig, I; and B are given by
20V

(D
(2)
3
(4)

Ip =25 uA, Ig=5mA, B =200

Ip =20 A, I =5mA, B =250

Ip = 40 pA, Ig =10 mA, B =250

Ip =40 uA, Io=5mA, B=125

In a p-n junction diode, change in temperature
due to heating

(D
(2)
3
(4)

affects only forward resistance

does not affect resistance of p-n junction
affects only reverse resistance

affects the overall V — I characteristics of

p-n junction

In the combination of the following gates the
output Y can be written in terms of inputs A and
Bas

Ae
Be

~
>

(1)
(2)

>

os]]

+
>

| &
oe}
+

3

>
vs]

4 A+B

27.

28.

29.

ECQaTHdsliuL_(Herer

S, 2 et (R

Werarpssnd (V;) 20 V, Vgg = 0 womib Veg = 0.

erafled, Ig, I wbmitd B e gLy

(D
(2)
3
4)

@®

20V

Ip =25 uA, Io=5mA, B =200

Ip =20 A, Io=5mA, B =250

Ip =40 A, I =10 mA, B =250

Iz =40 uA, Io=5mA, B=125

p-n  ghdlen_Cuimged, Qeutiniu@®ssL

ueusred @b Geuliflane WwMHmLD

(D

(2)
3
(4)

perGarmadlw
undl&@Lb
p-n spdlullen WengenL e LTH&sTg)

WlenL_senL_epw L (HLb

SHmubu ergenL el L (HD UTH&E@GHD
p-n spdlullen wppeugiorer V — I uamdwene
und& @1

&Gy  Qar@ssuul(@earer  sisseumuie &b
S, o daf@adr A wpmid B perer sflwmer
Qaueli® Y

Ae

Be

(D
(2)

3
4)

f > y
>

A.B+A.B
A.B+A.B
A.B

A+B
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30.

31.

32.

33.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ecm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 339 m/s

(2) 350 m/s
(3) 330 m/s
(4) 300 m/s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) linearly proportional to the distance

between the plates.

(2) proportional to the square root of the
distance between the plates.

(3) independent of the distance between the
plates.

(4) inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 5 times greater
(2) 10 times greater
(3) smaller

(4) equal

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) m=s

(2) 2s
(3) 2ms
4) 1s

30.

31.

32.

33.

S saTanTs GPNID GsHosa THLGES GG
@asssemes LWaTLHSSLILOEDS. @@ @unis

samerLsCarar®  GpTuiayer o der  sTHMIS
SbLSS et Bersans #MQgwwemD. 27°C
opPatiufloaded,  <0ss0ss Qe

psHosaigdar 20 cm wHmb 73 cm  BersHed
2 maumssLILEDg. Qagssamouuier o iT6leuamr
320 Hz eraflev, 27°C @ qdlller SansCousbrarg ?
(1) 339m/s

(2) 350 m/s
3) 330 m/s
(4) 300 m/s

Q Wergyr Lid womd A urliy Qsrerl  @)evenr
550 WlarGzsfluler C WANssLLLReTer @ e
550&EHHE Qe Cu srenrliL(b Hlape Lilereluicd
eswnerg
(1) sasdsEnrsE Qe riul L Asraoalns
Crflwer gl QuTmESSIpenL WG|
(2) ssBsERsE @aoLlul L Asmaeins
@iy fpe ezl QUSSP LIF.
3)  saBsERHE @ ul L (sTamaamal
FMTTSS].
(4)  ssBsERsE @aLlul L Asmaains
erdlfelldlg QUSSP
Eyren HmILD Qeri@Essns CuaCrmadw
Savgufleoner g Wear b E @, @ erCos yrer
g eueflaouldmbg  demi@sstes h
Qzrenevey &G cllpdma. @uQumps
Weryeosder oerey  SULgGu  eeussiiul(
SHevgol b Heriutin@®dpg. @@ yGrmiLmes
gargl e osHeayer Gs 2 wpbd h erelihE
EC cllpomm QeiwtiuGEng. crerfled
sl yrer elpd Gy jere] LGrmLmer aflipbd
G eme |6 el L_med
(1) 5 wrmeE Quilwg
(2) 10 wriE Quilwug
(3) Adlug
(4) swwreg
Coeeuwimar o wigperer  sligl SSler  smenyuldlen
2 &8l mbg) 20
Qariselliur (Hererg WwHMID AF @) Slos
SiolludMCurd  wergyd Merayd  @udurs
S momn o dmergl.  gyradl  Hlaveulledmbg)
5m Qgrevaeier sarsd LpHer p@ssnd 20 m/s?
crafled, emevey Crirbd

SAF TG

1) ms
(2) 2s
3) 2ms
4) 1s
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34.

35.

36.

37.

A metallic rod of mass per unit length
0-5 kg m’ s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in

the rod to keep it stationary is

(1) 598A
(2) 1476 A
(3) T14A
(4) 11-32A

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

1) 25Q

(2) 250Q
(3) 40Q
(4) 500 Q

A thin diamagnetic rod is placed vertically

between the poles of an electromagnet. When the

current in the electromagnet is switched on, then

the diamagnetic rod is pushed up, out of the

horizontal magnetic field. Hence the rod gains

gravitational potential energy. The work

required to do this comes from

(1) the magnetic field

(2) the lattice structure of the material of the
rod

(3) the current source

(4) the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 puF and a

resistor 50 Q are connected in series across a

source of emf, V = 10 sin 314 t. The power loss in

the circuit is

(1) 043 W
(2) 2714W
3) 079W
4 113W

34.

35.

36.

37.

@ @E Basdne 0-5 kg m™ HapQsrear o
2 Coorasd sl qerm, danl bl L ggier 30° smiieys
CaramsassCaramT  eupelpliLneT  FTlgerssler
Bg HLgsriur Gararg. sflurarg EGpel(pssToeD
@mss, Csmgsg SHosuild 025 T asrpsl
HaoggreamL e Geuou@ssliiuc @, ger eufGuw
WerGarm b umybuly Qelwdiu®Spg. eafld,
sPleow  paHITLD  Hlevewrs  @meusH(hEs  Fer
auflCGw umuyd WlerCearm b

(1) 598A

(2) 1476 A

3) 714 A

4) 11-32A

R0 QuiiE  smer  smoeuCerm LS L e

WerCerm_ L. 2 awre HLUUL 5 divimA wHmib
Wemempss o emie) mCub 20 div/iV  eafléd
srdeuCarm B L Mer LOeHemL

1) 25Q

(2) 250Q

3) 40Q

(4) 500Q

(1 Nersmbgs — gi(Hed (pamernsensdlan_Gu
QemiGssns @wéedw Grli STHSESLH

aeusslILl(hetargl. Wersmhg  WerGemml L omeng

S@ISHESILLL gD, @bl L STHsL b

adlit  ampsssll  CoaCprad  sdareruOSDg.

carGeu  sflwurerg FrrLY  WerHlene @LHmeneL]

Qumiflmgl. @sH@ Cosmeuwnar Geuameoenw Gawiw

SGEl

(1) srpsLiLeb

(2)  sPQeuwnulHeTer Cummert e
SiewflECamancy &L LenoliL|

(3) e epavid

(4) arhsl o brHpsslermed e Liu{Hn
WesTLjeuLD

em WBeargreamg 20 mH, om wWaCssdl 100 pF

wHopbd en WeagaL 50 Q gdwuear Qs
@eenibe, emf, V = 10 sin 314 t 55 Qe Cw
@aanssliLl (Haearg @bs sHMld gD DD
QL

(1) 043 W
(2) 2:714W
3 079W
4 113W
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38.

39.

40.

41.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %XO, the power radiated by it

becomes nP. The value of n is

1 -
(2)

3 -

81

(4) 256

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

1) 6F
(2) 4F
3) 9F
4 F

A small sphere of radius ‘r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1) 1
(2) P
3
4

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 2087dJ

(2) 42:2J
(3) 104:3J
(4) 8454J

38.

39.

40.

41.

@@ smbEummeaiar < bpd sdieiss P wpmid
2g Qu@n Yybhoo Ay dAmebasdd eisdng.
smwEurmefler  Qeutiuflepeerw, oig  Gumw
<D %7“0 Smaparsder CQeualuiL ehpeumm

wroflerme, <yoHoe sHireisas nP  eeprdng.

erafled, n-eir ol

(1)

N o |
[
(<)

(2)

6))

o o

81

256

a@Cr Qummeiarme Qeuwtiul L @rear® sblser
aCr =jemey LW QETETL ST D 2 GTaTar. (PS5
190l e GINETG A LYW GIWTNT, ST A HILD
@rarLreug sblAwler GnsEGeul GLLTiy 3A
<U@&WD. s sl Barsans Al Sere) ofsMss
ggar g lens F Qeueou®@ssiubGdng erafeo
@ranLmeug sblewwyd <%Cs erey Bligss
Coameuwinar ellengulien jeme]

4)

(1) 6F
(2) 4F
3 9F
4) F

T-gyb OCarar. g Sdwu Csmearbrerg euiay
Blevaulalmbg @ umin SHreusHeayer ollpmm)
Qeuwin@®@dpg.  @ser  eflewereumed LTI
Menglarmed Geutiub o (Heurdlpg. GCamerwmeng
poaws SHosCassms sewbCurg Geuliu
o (heuT&s 6ig eiflgl QummssD

1 1

@ 1
3 1
@ r*
100°C &, Quicbuimar 2(pdsHed (1:013 x 10° Nm™2)
odrer 01 g wrdfl feoy yelwrs wrHy 54
sCamflgeg 100°C Geutin <y hoed CosameutiuRdpg.
@dle 2 pusdurer efuder uv@wer 1671 cc
erafled wmfluder ois < Hmed wrmLm@h

(1) 2087dJ

(2) 4224J
(3) 104:3J
(4) 8454J
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42.

43.

44.

45.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
o
l A
1) D
@ D
(3) %D
@ 2D

Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed m about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wpo>Wg>Wg
(2) Wp>W,>Wgq
3) We>Wg>W,
(4) Wpo>We>Wg

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 025
(2) 08
3) 05
(4) 04

Which one of the following statements is
incorrect ?

(1) Limiting value of static friction is directly
proportional to normal reaction.

(2) Frictional force opposes the relative motion.

(3) Rolling friction is smaller than sliding
friction.

(4) Coefficient of sliding
dimensions of length.

friction has

42.

43.

44.

45.

gleusssdler euiajblaveulgierer e GUTmHeTTETS)
h-> LpsHd@mbg 2 rrieupn uresuied (UL
sl qweurm) SPpmd om Cemigssrar el L
shen WP4sdpg. eulLF apfler el b AB = D
erafled, 2 wigib h Mg Fwwrang

h B
)
l A
1 D
@) %D
3) %D
@ 2p

gpern GQummeTsar A @ (@ S Csmard), B @ (g
Queedlw euL el () wHmbd C : (e@m el
cuemaTwid) eeueurarmid @Gy oerey Hlewpw M
oHod b R Qerareveuwng s
siFamstiupd @Gy <jere CaramdasCousd -
spodlamer.  Sepamn @UejmasE CataEr®
aumeughE Csmeuwnar Geuama jere] (W)
wdlemu LyrsSHtsticugharear Qgmi

(1) Wo>Wg>Wg,

(2) Wg>W,>Wg,

3) We>Wg>W,

(4) Wr>We>Wg

m-BleopQarear_.  Bs@mb  OsmEly  eqerm  4m
BleopQsreanr  Hlevoowns o6t Qgr@rder g
Corgdlmgl. Cuorsais@l Wer Hlan@ambeurer
Qareuy @ueblawsE eaumding. Hlan@Eamneurer

Qsm@lber  gleuss HasCausd v erafled,
BlevalS A& @anaid () e i

(1) 025

(2) 08

3) 05

4) 04

etreu(HLd Fnbbled 618 Seaumreg)
(1) fHlevay o grellen euyibL] i CrirEss
erdlreflenand@ Coirellflgl QuUmmSS PG
(2) ogmie) dlevswneng &y QUESSMS
T TSEEFq W)
(3) 2 (mEBD 2 rmile] eUpsESLD
2 TTieeUESTL gD HAdlwig.
(4)  aWwsE 2rTles Gash Ber S @EEmaTs
QamesmL_g|.

HLAAC/KK/Page 13

SPACE FOR ROUGH WORK

English/Tamil



46.

47.

48.

49.

50.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. CO3Jr 1. \/§ B.M.
A ii. /35 BM.
c. T iii. /3 B.M.
d. Ni** iv. 24 B.M.
v. 15 B.M.
a b c d
1) i i iii iv
2) iv i ii iii
3) 1iv v ii i
4) i v i ii

Iron carbonyl, Fe(CO)j; is

(1) mononuclear
(2) trinuclear
(3) tetranuclear
(4) dinuclear

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Coordination isomerism
(2) Ionization isomerism
(3) Geometrical isomerism
(4) Linkage isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cry02”
(2) MnO,
3) Cro2”
(4) MnO;~

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) tetrahedral geometry and diamagnetic

(2) square planar geometry and paramagnetic
(3) square planar geometry and diamagnetic
(4) tetrahedral geometry and paramagnetic

46.

417.

48.

49.

50.

Qsmad I & Qar@ssuuc L 2 Cors weallgamar
Qsmad II & GCsr@ssiulL  cuwealsader

sphél  sihsHGUUsSpeILer  WunBsd  wHHID
sigar sflwrear GMuir e Csib0ls(Hdseab :

Csmadl 1 AELGERI
a. Co®* i. 8 BM.
b. Cr* ii. 35 BM.
c. Fe¥ iii. 3 B.M.
d  Ni** iv. 24 BM.

v. 15 BM.

a b c d
1 i ii iii iv
(2) iv i il 1i1
(3) iv v ii i
(4) iii v i ii
@y srruamerd, Fe(CO)5 <,arg)
(1) qeaens s
2) ws s
(3)  mren@ &
4 Qo 5w
[CoCly(en),]  imawmey s (b LIHHlLSSen
UMSWITETE)

1) eewe] wIHHWLD

(2) swefl wTIHHWID

(3)  auge eus wTHOWLD

(4) @eanriy wIHHWID

Epsan. Swalsefled erg gearm d-d wrHVSMSLLD
WLHOID LTTTSTHESSSETENOWLLD 2 L LSTEHD ?

1) Cr,0F

(2) MO,
2—

3 Cro?

(4)  MnO%"

[Ni(CO)4] emanmraellen LpGleuefl janoliLy whHmibd

&GMhS SGTENLOUITEN)

(1) mrerepdl ypGeuafl eIl WHmID Lwim
SMhGSS 60T LD

(2) sgirser ypGeued ey wHmID Guiym
SMHGSS 601D

(3) egmirser ypGeuad eI LHOHID LwiT
SMHSES 6L

(4)  mrerpdl ypGeuafl @enwiiLy whmid Guiym
SMhGSS 6016 LD
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51.

52.

53.

54.

55.

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO4. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

1) 30
(2) 28
3) 14
4) 44

The difference between amylose and amylopectin
is

(1) Amylose have 1—54 o-linkage and
1 — 6 p-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(4) Amylose is made up of glucose and

galactose

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They are formed from bi- and tri-functional
monomers.

(2) Examples are bakelite and melamine.

(3) They contain covalent bonds
various linear polymer chains.

between

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In electrophilic substitution
amino group is meta directive.

(2) In absence of substituents nitro group
always goes to m-position.

(3) In spite of substituents nitro group always
goes to only m-position.

(4) In acidic (strong) medium aniline is present
as anilinium ion.

reactions

Which of the following oxides is most acidic in

nature ?

(1) BeO
(2) BaO
(3) MgO
(4) CaO

51.

52.

53.

54.

55.

2:3 g urmlls bl wHmb 45 g yssTdls
Sflon  somel LT HySO, oL  efevar
yidlpg. Gesefleu@md eumyssefler soames KOH
enasefiar o6 QeqssiiLGdng. STP uled
Bgperer ellanen@ummetien erenL (g) wirang

(1 30

(2) 28
3 14
4) 44
SBlGeomev O  BCTEUSgar  @eaCw

2 drer CeumyLimL_meug

(1) 1-54a-geerriy wombd 1 —6
B-@enantiianL LBlGeome ©&merTiq(hd @D

(2) 1-54a-@eeriy womb 1 —6
B-@avenriianL A CeomrGlLigig e
Qs mamTiq (H&@LD

3) 1-5>4aQeerriy wombd 1 —6
o-@evanriienL GG Ly 6
Qs mamTiq (H&@LD

4)  ©EpCsmev LHNID sra&GLTeflarme
SBIGeme EHILIL g (HEHELD

GINETGT:S QamLiry Sbevgl aleel 119 6resed

Ueulgsmer CQuUThSg, SpsarL mpmseild erg

arn sflwrearg Gevene ?

(1) eveu @rlenl HMID (PLOEOL -
MemansCgr@Ed emuigularnmed o (HemELb.

(2) Cuseel, Quaewer @eubHdbsE
T(HSGIS&HTL_(HN&ETT(GLD.

(3) QeucuGeumy CrrGaT_(H LU
shslsERsdan_Cu ssbameaniiLsamar
QsmerLg).

(4) uveuy srigefle) e auelappuwlITeT
&S ADETLILISEET 2 0L LIF).

cuallenoLsl(s, S|Lle o611 & & d i atadl e

apl Cropd m-epl Cyr afelleearnyd smHEng,

eI erenfled

1)  erevsLymesr udleSi(h  elenarsafie
Carm Cgm@d m-eulbL &@Lb.

(2) uddhaser QoersCurg aplGrm QsmEd
eriGumgib m-@L sens CrrsHGu CQadaib.

(3) uddhaser QmbsCurgd eplCrm CQgmEd
eriGumgib m-@L seng CrradGuw Gadaib.

4) <fle  (euallewillE) e s etedle,
Sjatelaflub Swellwrs @) mé@Lb.

Epsa. ysmshsaiey g QUDSWLTE UHE

SlblSsemenwenL g ?

SHeUIT

(1) BeO
(2) BaO
3) MgO
(4) CaO
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56.

57.

58.

In the reaction

OH O Nat

@ + CHCly + NaOH ———> @ CHO

the electrophile involved is

@
(1) formyl cation (CHO )

S]
(2) dichloromethyl anion (CHCl,)

®
(3) dichloromethyl cation (CHCl,)

(4) dichlorocarbene (:CCl,)

Carboxylic acids have higher boiling points than
aldehydes, ketones alcohols of
comparable molecular mass. It is due to their

(D
(2)

and even

formation of carboxylate ion

more extensive association of carboxylic
acid via van der Waals force of attraction

(3)
(4)

formation of intramolecular H-bonding

formation of intermolecular H-bonding

Compound A, CgH,,0O, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

©_ CH2 = CH2 —OH and 12
OH

(1)

3) HyC CH,-OHand I,
Hj

c
CH, G OH and I,

(4)

56.

57.

58.

@ cuafenemrudled
OH O™Na*

@ + CHCly + NaOH ——> @ CHO

Qe e seulm sryanflums rHLGeug

@
(1) urfenwe Cpir uiefl (CHO )

S
(CHCL,)

(2)  er@CearmGyr CQwsHed erdlir wafl

@
3) e @CernCrm Quwsde Crigjweafl (CHCly)

4)  eLgCamCrr sriSer (:CCl,)

UL LI &aniq ] P& F0 M) BlenmujenL_wl
91 QD (HSET, S CLmetrgeir WwHDID
DA TEOSENEIT STL1q @uILd STTUTSEVTEISE
Sflonigdr  Fls  Qardfleoons  yeraflsaner

2 LW e erafled @eummdled
(D

srrunsedlGal Sjwaf 2 (meuTeusmed

(2)  eumewLit  eumedev seuFSl  eflens  epeLTS
srrursevrals  gflogdear s s
O TS S S S TeD

(3)
(4)
Garow A, CgH,(0, NaOl yrer afenaryfleugns

gpevsaadlan Cu H Genenrii o (peunse

ppesandaie H Genanriil o (Heunsed

SNAComD (Y-wreng, NaOH = e ecllenaryfpbg
o HusHundlpgl) wHOID @ WDERFET ipLIgE6
GO 885 @b U6 sBSDg.-

A vppid Y wrerg (panpCGu

1) CH,; — CHy — OH wpmibd I

@ ¢ ) CH-CHyuppo 1,
|
OH

3 HgC— ) CH, - OH wppin I,

CH,

(4) CH, G OH wpmib I
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59.

60.

61.

62.

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) CyH;0H, C,HLCl, CoH;ONa

(2) CyH;sCl, CoHg, CoH;OH

(3) CyHz0H, CyHg, CoHLCl

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both

due to natural and human activity ?

(1) NOgy
(2) NyO
(3) NyO5
(4) NO
Hydrocarbon (A) reacts with bromine by

substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon

reaction 1is converted to gaseous

atoms. (A) is
(1) CHy=CH,
(2) CHg-CHg

(3 CH=CH

(4) CHy
The compound C;Hg undergoes the following

reactions :

3Cl,/A Br,/Fe 7n/HCl
20 A 2 B = C

C7Hg
The product ‘C’ is

(1) o-bromotoluene
(2) 3-bromo-2,4,6-trichlorotoluene
(3) m-bromotoluene

(4) p-bromotoluene

59.

60.

61.

62.

Carow A wrergl Na o Lar Gopg B & smps
wpmid PCly wrer C & smdmg. B wopmbd C
patnrs lamarfbg eLeasdd mEsmy SHSADI.
A, B opmib C e euflengwinang

(2) CyHLCl, CoHg, CoH;OH

(3) CyH5OH, CoHg, CoHCl

@Qupes wHmb waflls Ceud @G ramgarmaLd

cuafloarrsHer 26 LEGSsUUBL bl remenr
ASDFHH@HET oTg @en Curgeurer wreHU[HSS)
Hlemwing ?

(1) NO,
2 N,0
(3) N,05
4 NO

aant Crramuer (A) yCrmdey e LifeS g emmed
denaryfipg <pdesd LHErmemwenL o (Heumd@h
SmaCGu 2 miev elenamuier epad BIeT@GSH@SL0
GODEUTET ST Samssamer CaTem  eumuy

aapl Grrsmiuernms wrHpb oL dng. (A) curearg
(1) CH,;=CH,
(2) CHs;-CH;j
(3) CH=CH
(4) CHy
Caiob CrHg Spsart clenarenws Lfldmg :

3 Clz/A Brlee Zn / HC1

A B

7Hg
daar@ummer ‘C’ wrang
(1) o-yCrrComGlL_meyelle
(2)  3-yGyrGwm-2,4,6- LavrECarCrmGLmgaier
3)  m-yCrrCmGlL_meyellen
(4)  p-yGyrGr@Lreyeler
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63. Which of the following carbocations is expected to

be most stable ?

NO,
Y H
NO,
v/ &
NO,
Y H
NO,

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NRy<-OR<-F
(2)
(3)
(4)

T

(D
(2)
(3)
(4)

=

64.

-NHy>-OR>-F
-NHy <-OR<-F
—-NRy>-OR>-F

65. Which of the following molecules represents the

order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(D
(2)
3
4)

CH,=CH-C=CH
CH, =CH-CH = CH,
HC=C-C=CH
CH;-CH=CH - CHgq

63. Spseam asriuer Cpir weldd eg s ds

BlevUILSFETED 2 L WISTE 6T TUTTESQMD ?

NO,

v )

Y H
NO,
ol
Y’ ©
NO,
Y H

(3

NO,

-1 udHeS® ellemerancy QUGS Spsereubmier

s

4)

<

64.
orgl sflunerg : (R = ydenged)

(1) -NRy<-OR<-F

(2) -NHy>-OR>-F

(3) -NHy<-OR<-F

4) -NRy>-OR>-F

65. Q@LOMbg UOLTE EIHSHET &Q&G&Ml_ THS
PO & DD sp2, spz, SP, Sp @erssaLiL auflansamuws
sm_(H ?

() CHy=CH-C=CH

(2) CHy,=CH-CH=CH,
HC=C-C=CH

CH, - CH = CH - CHj

3
(4)
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66.

67.

Identify the major products P, Q and R in the

following sequence of reactions :
Anhydrous
AlCl;
@ + CH5CH,CH,Cl ———3 >
(i) Oy
P Q +R
(ii) H3O*/A
P Q R
CH,CH,CHg CHO COOH
telNeNe
CH(CHgy), OH
@) @ CH;CH(OH)CH
CH,CH,CHj CHO
OH
CH(CHgy),
4) ©/ CH3; - CO - CHj

Which of the following compounds can form a

zwitterion ?

(1) Acetanilide
(2) Benzoic acid
(3) Aniline

(4) Glycine

66.

67.

Epsar  learsaflar  cuflengudled

S

clemarGurmeraser P, Q wpmid R & sardMwiaibd :

£lel
AICI,
@ + CH4CH,CH,Cl ———2
(i) 0,
— 2 . Q+R
(i) Hy0"/A
P Q R
CH,CH,CH; CHO  COOH
ol eNe
CH(CH,), OH
@) @ CH;CH(OH)CH
CH,CH,CH; CHO
OH
CH(CH,),
) @ CH; - CO — CHj

Epsarr Camomigailey ergl evaeill LT jweiaw

2 (HeUME @D ?

1) <8 aflee®

(2) QuenCGamuils <=felbd
(3)  atedlar

4) Smerdlen
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68.

69.

70.

71.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1)
(2)
(3)
4) ¢

T ®

On which of the following properties does the
coagulating power of an ion depend ?

(1) Size of the ion alone

(2) Both magnitude and sign of the charge on
the ion

(3) The magnitude of the charge on the ion
alone

(4) The sign of charge on the ion alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) H,

(2) O,

(3) NHj4

(4) COqy

The solubility of BaSO, in water is
2-42 x 107 gL_1 at 298 K. The value of its
solubility product (Ky,) will be

(Given molar mass of BaSO, =233 g mol_l)

(1) 108 x 10712 mol? L2
(2) 1-08x 1074 mo2 L2
(3) 1-08x 107 mo12 1,2
(4) 1-08 x 107 mol? L2

68.

69.

70.

71.

QeucuGoumy Qeflaysaiics. NaOH wpmiv HCI g
QeucuGouny  sanjerelley Fobgy SUTMESILLL
Epsan_ sarsdsafla :

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55mL M HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL 1M0 HCI + 100 mL % NaOH

ergan ganlen pH <oyang 1 6@ swwrs @@m&sESn ?

(1) a

(2 d

3) b

4) ¢

EpsarL by LaLselld @ Sweafluler FHflsed

Sper gnipHmHEGD ?

(1) ywelufer serelled U (HLD

(2) Swefllller lereend emey wLHMD @G0
@reamen_wGLo

3)  weller Weraend oeredled LI (HID

4) Swefller Wersamw @dleanw L (Hb

NH,, H,, 0, wpmd CO, & OerssiiuL

eumeRTL T eumebey rdledser wpeanpGu 4-17, 0-244,

1:36 womidb 3-59, Spsan. curysseild ergl e

W& eraflgmas FreuwmEb :

(1) Hy

(2) Og

(3) NHj4

(4) COq

298 K & $iflé> BaSO, e sanydmeir 2:42 x 1073 gL 7L,

Sigen smTHmer CLmES (Ksp) wduurerg :

(Qasr®ssuuc . BaSO, er Coremt Hleym =

233 g mol™!)

(1) 1:08x 102 mol® L~

(2) 1:08x 10 * mol® L™

(3) 1:08x 107" mol® L

(4) 108107 mol® L

2
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72.

73.

74.

75.

76.

The bond dissociation energies of X5, Yy and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™’. The bond dissociation
energy of X, will be

(1) 100 kJ mol ™!
(2) 800 kJ mol ™!
(3) 200 kJ mol !
(4) 400 kJ mol!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) is doubled
(2) istripled
(3) 1is halved

(4) remains unchanged

For the redox reaction
MnOj +Cy02~ + H'—— Mn*" + CO, + Hy0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 5 16
2 2 16 5
3 16 5 2
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g) +By(g) = X9(g) A H=-XkJ?
(1) Low temperature and low pressure
(2) High temperature and high pressure
(3) Low temperature and high pressure
(4) High temperature and low pressure

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) volume of the gas molecules

(2) electric field present between the gas
molecules

(3) density of the gas molecules

(4) forces of attraction between the
molecules

gas

72.

73.

74.

75.

76.

Xy, Yy opoid XY uler Gevewriiy Gflens <y,mmed
1: 05 : 1eramp elagsdled 2 arerg. XY o (Heunsed
AH sparg — 200 kJ mol™. X, efler Gevawriiny
Wflens <y mooTeg)
(1) 100 kJ mol™*
(2) 800 kJ mol™*
(3) 200 kJ mol™*
(4) 400 kJ mol™*

ellanaruH G Limmert e Qedey
@mwLmsT@EDd Curgl, @m Uhweiams elearuder

QzT_&s

DD AUMPE| &HTELD

(1) @@wLEsTED

(2) wbLLAESTED

3)  urdwum@b

(4) wmPTE @MHSSGD

255nCardn @h&s faaruirer

MnOj +Cy02” + H'—— Mn®* + CO, + H,0

@6 FoTAIOTSSULL L FoerUTliger  eleveru(

Qunefler sflwrer Qspeurarg)

MnO; C,07~ H'
1 2 5 16
2 2 16 5
3) 16 5 2
@ 5 16 2

EpsarL aéGpHlamauier fsul e eflanerummer
@eucilenanie o (Heurs egleum@L,
Ay (g +By(g) = X5(g) AH=-XkJ?
1D eonps O GEDHS
DAWESD
(2) <odls Qauublene LONID AFS (PSSO
3) ©opbs Qeutiuflene LHMD HHS (WPSHLD
(4) <ods Qautiuflene LOHNID GHDOHS H(PSSLD

Qeutiublaned

Bebedlie| eumy Fwerumiged Hmsss sryanil ‘@’

@sH& Qs e wg

(1) ey pposammsaier sarsiere]

(2)  eumyy
e eutd

eLpev&Han Mg @EnsSlenL_Cuw [GEICT

3) ey ppeossmmsaien L5

(4)  amy eposamms@Epsdle Cu o 6rer Heurgss
cens
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71.

78.

79.

80.

81.

82.

The correct order of N-compounds in its
decreasing order of oxidation states is

(1) HNOj,, NO, NH,CI, N,
(2) HNO,, NH,CI, NO, N,
(3) HNOj, NO, N,, NH,CI
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFg’ “ion ?

(1) Al
(2) B

3) Ga
(4) In

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Zn

(2) Mg
(3) Fe
(4) Cu

The correct order of atomic radii in group 13
elements is

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
4) B<Ga<Al<In<Tl

Which of the following statements is not true for
halogens ?
(1) All are oxidizing agents.

(2) All but fluorine show positive oxidation
states.

(3) All form monobasic oxyacids.

(4) Chlorine has the
enthalpy.

highest electron-gain

In the structure of C1F3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) two
(2) four
(3) one
(4) three

71.

78.

79.

80.

81.

82.

Fsflwmesr

N Ceiromigefler @ i@ fang
B &5HDnCardm Hlenesaten cuflagwmearg

(1) HNOg, NO, NH,C], N,

(2) HNOg, NH,C], NO, N,

(3) HNOg, NO, Ny, NH,Cl

(4) NH,CI, Ny, NO, HNOg4

EpsarL safllngdld gl eremm MFg_ Swaflenw
2 (Heumd @ @uwerg ?

(1 Al

(2 B

3) Ga

(4) In

OlEanmd  ULFws  HMmSHD  CEmarme,

Epsar 2 Carshseld g @ilamame (&S
vweruGd g ?

(1) Zn
(2) Mg
(3) Fe
4) Cu

Qsm@d 13 gaflwmsaiar sflwrer sian <, rhisefen

cuflenswrergl

(1) B<Al<Ga<In<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<In<Ga<Tl
4 B<Ga<Al<In<Tl

Epsar  smpmiseiidy  anreomasErs@E gl
2 arenLo ulebsmev ?

(1) erbamd o &8lnCarhbluim@id.

(2)  yepfener selisg) SMaTEHID Cmir

B &5HnCardm Hleneenus &I (Hib.
(3) crebamd RHEDSTT &S HOWSMS S(THLD.
4) @Cerriler flaswrar sl grer - GHOO
eramg el 2 anL_wig.
CIF3 @@wudd, eww a ‘Cl oder salss
Qs gren @l e safler craranilEanswnarg,

1) Qe

(2) mrenE
(3) qerm
(4)  opengy
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83.

84.

85.

86.

The correct difference between first- and

second-order reactions is that

(1) the half-life of a first-order reaction does not
depend on [A]); the halflife of a
second-order reaction does depend on [A]

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) CaH,; <BeH,; < BaH,

(2) BeH, < BaH, < CaH,

(3) BeH, < CaH, <BaH,

(4) BaHl, < BeH, < CaH,

In which case is the number of molecules of water

maximum ?

(1) 0-18 g of water

(2) 0-00224 L of water vapours at 1 atm and
273 K

(3) 18 mL of water

(4) 102 mol of water

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy, — BrO3 ——> HBrO

Br «<———— Br,

1-0652 V 1-595V

Then the species undergoing disproportionation
is

(1) Bro;
(2) Bry

(3) Bro;
(4) HBrO

83.

84.

85.

86.

(PS5 LHMID @raTLmd cuens ellenansater Fflwmer

Coumium(y eredrig

1) s aews cmadar sy ampe) [Al,
MBS (H&SMS; @remLmbd ecuens ellenaruder
<oy eumpey [Aly smibglmEELD

(2) s cuanS cllenamenw
demaryssiuBSSOTD;  @UaETLTD  eUens
Mevarenw eflevary&sliL(hss Quweng

3) s s et  cllaarGausbd
cflemeurLi(h 16l Limmerf bt Qedleneu

FTihS(HESTE; @rewmLmbd euens ellaneruder
camarCeusd elenaruB@ummefler Gahana
FMiThS) (5 @D

4) wse» s  evaruden
clenaru( Qumpefler Qedlaney Fmibd (HE@SLD;

NevarGeusid
@uearLmb-auens elearuder ellenarGeousbd
e Qummeier Gedene sTipH(HEHTS
CaH,, BeH,,
ueT Qe euflenswimeng
(1) CaHy <BeHy < BaH,
(2) BeH, < BaHl, < CaH,
(3) BeH, < Cal, < BaH,
(4) BaH, < BeH, < CaH,
EpaarTeundled Tdled ity [OEREE N
cranenilsans sl somi @mEEn ?
(1) 0-18 g fMed
(2) 1atm wpmib 273 K e 0:00224 L $rir
< 6ilufled
(3) 18 mL ffed
(4) 1073 Guored Fifled

&G

BaHy < dflueupdeper weafll

o @rerm srliquimring  Gumed
LCymdle e

LTHDSES

uLSSleb
GeueuGoumy emf  wFlyew
2 58lnCardn  Hlavouler  ghu@BbD
sHSHed Qamemmed :
- 182V - 15V
BrO, — BrO3 ——> HBrO

Br

10652V 2 “Ts95v
Aflgs fangelsE 2 aremm@h 2 miLTeag
@QJD@')LD.

(1) BrO,
(2) Bry

(3) BrOg
(4) HBrO
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87.

88.

89.

90.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN~
(2) CN*
(3) NO
(4) CN

Which one is a wrong statement ?

(1) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(2) The electronic configuration of N atom is
1s2 252 2p)1( 2p}17 2pi
IR RN

(3) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(4) The value of m for dzz is zero.

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fcc structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

£

1y W8

2) 33

3

(4)

o sl 2 2

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 252 2p3, the simplest
formula for this compound is

(1) MgX,
(2) MgyX

(3) Mg,Xs
(4) MgsX,

87.

88.

89.

@eueymliLsamer eT(HSSIGCSTEHTL T

CN*, CN~, NO wpmib CN
oty ety Sifswrear emaTiysrsams 2 amLwg ?
(1) CN™

(2) CN*
(3) NO
(4) CN

T PO SUpreT Spy ?

(1) @ <ML LT PP GeUTETLLD GTERTSETTE)
GSMUALLUGAng <pulend e yamiellen
R Qs yrar  BIENE  (GeUTERTLLD
erasermed @MU Lin®Eng|.

(2) N igmeihE 2 arer rCloslFmer enLLliL

162 252 2P} 2py 2p,

(3)  ‘S-gymarLmedléd o @Tar eTQle&Lrmeytl e
Qwrss <}, MAlLLmed Camewr 2 hsLb
LBWSSHE& ST 2 GTerg).

(4) dzz 61 m WL LHUIDTL 2 GTeTg).

s  GQeubledeouiidd @bl bee  Sjanwlienu
2 aLwigl. 900°C m@ CGuwd g fee sewLlDHE
900°C  uwlgyid
@mbller oLiisd eHdlgwrearg (@bl Guomam
Bleopuyd OMD g Y  CQeuliblereenu
QummSg LIPTH @HLILSTS QETETLTed)

ormib.  j@n  CeliublasEb,

(D
2

2 8

3

(4)

sl g gl

Qusatflwud e saflwbd (X) o Ler daar yflbas
am Swal Csibsms o maursgh. X) e
STREIMNE GTOSLTTET DeNLLILITETS) 1s? 2¢2 2p3
erafled, H&CsTSHen eraflanwimer eumiiLmLrag)
(1) MgX,

(2)  MgyX
4) MggX,
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91.

92,

93.

94.

95.

96.

97.

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -80°C

(2) -196°C

(8) -120°C

(4) -160°C

Oxygen is not produced during photosynthesis by
(1) Nostoc

(2) Cycas

(3)  Green sulphur bacteria

(4) Chara

What is the role of NAD® in cellular

respiration ?

(1) It functions as an electron carrier.

(2) Itis a nucleotide source for ATP synthesis.
(3) It functions as an enzyme.

(4) It is the final electron acceptor for anaerobic
respiration.

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Sodium

(2) Potassium

(3) Magnesium

(4) Calcium

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Yucca
(2) Banana
(3) Hydrilla

(4) Viola
In which of the following forms is iron absorbed
by plants ?

(1) Ferrous
(2) Free element
(3) Ferric

(4) Both ferric and ferrous
Double fertilization is

(1) Fusion of one male gamete with two polar
nuclei

(2) Fusion of two male gametes with one egg

(3) Fusion of two male gametes of a pollen tube
with two different eggs

(4) Syngamy and triple fusion

91.

92.

93.

94.

95.

96.

97.

Syeu anmbL_yegefled D&THSSSISETHMaT LIev
gamhsar  Crosg ameuss Quad S re
apLymaie el flane

(1) -80°C

(2) -196°C
(3) -120°C
(4) -160°C

@Qaundler  gaflsCorsamauier GCumg  ysealleen
Gasafi L@ eudlevensv

1) prevms

(2) essav

(3)  wusemw FoOUT UTseNUTsSET

4)  smygr

Qe seunélgsadics NAD™ 6 Linis, erare ?

(1) =g aQasgrer sLgdwuns QgwduBHng.
(2) <z ATP swurilibe gm BluselCuran @

eLpeULD.
3) =g @n Aprdwurs QewduBSng.
4) < smhPloor  seurssdd  seLblaw

erQevgymer ermiql.
Epsaeupmer  erdsaflon  Qedseid  alampiriy
ugrofli@er QurmtiCupdpg) ?

(1) Gamgquwid
(2) QumLrflwub
3) wsetHwibd

(4)  smSwibd

EpsETL  THS STUIRSERET Q6T  BFIL
usslullenr e Spdlarsger CQpmmSus QT
QaremgmLriugermed, eqeardlerd HGDTEm FHearg
aumpsams s&pHfew Hlape| Qaiiw Quievrg ?

1) woar

(2)  eurenyp

3)  ewan Méer

4) eaGurer

Epaesr_cubdler ThS Hlenavsarled @by
sreurhigerTed HrfssiiuBdng ?

1) Qurme

(2) s @pr saflobd

3) Quiris

(4) Qumis wHmIb Quigey @ FeaTHib

@I L& S(HEYMISH GTCTLIZ

1) emwm &t Qare Csd, @b  FiHea

2 I H(HESH@EHL 6T @)eneanTelg)

(2) @Qm <gar Qs QFbseT @f TS5l 6
@ emeanreug)

(3) warHss GYldar Q@ e Qard Cewser
@ Coum 1 EHTL_EI%HEHL6T @)enanTeug)

(4) o amewwurer sHaMSH (HAarGsl) WwHmLD
epellanentay
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98.

99.

100.

101.

102.

103.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(D
(2)
3
4)

Sharbati Sonora

Lerma Rojo

Co-667

Basmati

In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

(1) Council for Scientific and Industrial
Research (CSIR)

(2) Research Committee on Genetic
Manipulation (RCGM)

3
(4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1)
(2)
(3) Retrovirus
(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(D
(2)
(3)
(4)

Ti plasmid
2 phage

Biopiracy
Biodegradation
Bio-infringement
Bioexploitation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1)
(2)
3
(4)

Annealing, Extension, Denaturation
Denaturation, Extension, Annealing
Extension, Denaturation, Annealing
Denaturation, Annealing, Extension

Select the correct match :

(1) F5 x Recessive parent — Dihybrid cross

98.

99.

100.

101.

102.

103.

@@ ydwu ol psb oig Sare srob @nbdureid
o aretGumgid @@  Ceuelipr(  Hloeuarssrd
sriyfepn QUL (HeTergl. <ig

(1) &g GerCergm

(2) Qe Gyregr

3) Co-667
(4)  unswd
gpglureile, LOTYOIHHLD T
o Wiflertsefler  umgismieL  wWAHUEH  CFig

Qurginssefler LweTUT I9H&E SAD(WPSD CFiw
Qurmtiy audls@h Hlpeuerd

(1) <ofellwe whmbd CAsmAbsrT D uie ssTer
&wid (CSIR)

WYL Quimmer

< yrEdls @ (RCGM)
@ndureiler mESSHI YUITUFHS  (GUHLOD
(ICMR)

wryl Qurdlulwe wHusHs @ (GEAC)

(2)

@S WIMEHEISDH &S Te
3)

4)

Epsareupmer wafls SlbCurens QFdedle &b
DNA giam_seng = I Csaiss Qungieuns Liwer(hib
sLg3 ergl ?

(1) Ti Germev(®

(2) A CGug

3) QyGrrenaurev

(4) pBR 322

uererm_(h  HmeuearhigeT eremenl  Brligen 2 uflm
GUETRIGENGETWLD, SF6T LESEMETULD  CSTL Ty
Brlger enduderd vweTuBsgieug Geueumm
SP&sLILHS DS

(D
(2)
(3)
4)

o Wiliemt Sl
o Wfsermed Hansss6d
o Wllirgmi SgISMme

o WTEmT SiyeTL_6b

uredlnGrev  smded  eSlenaruler
Blevavsatlen sflwmear cufleng

1) ugempped, FrAuymsed, QuedLHamsze
(2) Queyfagsd, B Auymsd, usammbmed
3) Brfuymsd, QudLSlamssd, LsaTTHDED
4) Queyfagsd, ugarmdme, Hrdumnised

(PCR) ug

Fflwrsl QurmpssHIULLmss CasmbOgsHhdsab :
(1) Fyx @O@mEueary - @Emuary sl
QupComir

(2) T.H. Morgan — Transduction (2) T.H. oriser - meTerflepL THOLD

(3) Ribozyme — Nucleic acid (3)  erGurenad - Hlusells <blen

(4) G. Mendel — Transformation ) G. Gweire - Quawmhpd
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104.

105.

106.

107.

108.

109.

Niche is
(1)
(2)

the physical space where an organism lives
the range of temperature that the organism
needs to live

3

all the biological factors in the organism’s
environment

4)

the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?
(1) COqy

(2) SOy

3 CO

(4) Og

Natality refers to

(1) Birth rate

(2) Number of individuals leaving the habitat

(3) Death rate
(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
(D
(2)
(3)
(4)

215 April

16t September

5% June

2274 April

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g

Primary consumer: 60 g

Primary producer: 10 g
Pyramid of energy

Upright pyramid of numbers
Inverted pyramid of biomass
Upright pyramid of biomass

(1)
(2)
3
(4)

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1 Cl
(2) Fe
(3) Carbon

(4) Oxygen

104.

105.

106.

107.

108.

109.

GUGTLILIEIG) GTETLIG)
(1) 2¥femnd grer  eumepd 2 wiflwed WwHMID
o lflwe Heoeselar oidms LweaTLHSHD
cllgLd

o Wflerd  eumps Cseeuwner sUlubleul L
ei&a

o iflersdenr sHm @Gpedler 2 6Tem Smarsg)
2 WMwed wHmib GuiHlwed smrenilser

grsge

(2)
3

(4)

2 uilferid euT(pLDd
Qeudur B ukis

S\ em

EpsaLeupmiedr @rarLmd Hlane wrs erg ?
(1) CO,

(2) SO,

3) CO

(4) Og

BT (R eIl Tands (&l @ L0

(1) Qpuy dsn

(2) @m arnfisms QLB  Br@d
2 Wirgeflen ereirenilsans

@puiy adlsb

em aurfisded yeb seal o ulisefer
crarenilEens

feal

3
4)

2 w5 eGamer Seard CQararrLLiuheg
(D
(2)
3
4)

21 erLiyed
16 Q&li b

5 San

22 erriyed

EpsarL sreyselad(mhgl ereleuamaWTear @phlamad
gnbl Qupriu@mb ?

@nermb Hlevey mi&TCeum : 120 g

Wz Hleve mesTGeurt : 60 g

s Hleve 2 pusHwrert : 10 g

OO 8 lbL

Crymen eramentlsangs gnlbl

(D
(2)
3
4)

2 urQUMTHET SMOELD FnldLy
cuullrhiQurer Cormen &bl

EpaarL saflomigefle evl_ Gy GLmev@uwifled
@Gamanr  fagller elevarysdwns Qeudul ()
epedEanm sedlemer eualliLL sryewronegl eTgl ?
(n c

(2) Fe

(3)  smruer

(4) <y sadlsmen
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110.

111.

112,

113.

114.

115.

116.

Which of the following pairs is wrongly

matched ?

(1) ABO blood grouping Co-dominance

(2) XO type sex Grasshopper
determination

Multiple alleles
Linkage

(3) Starch synthesis in pea
(4) T.H. Morgan

Select the correct statement :

(1) Punnett square was developed by a British
scientist.

Spliceosomes take part in translation.
Franklin Stahl coined the term “linkage”.
Transduction was discovered by S. Altman.

(2)
3
4)

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Bacterium

(2) Plant

(3) Fungus

(4) Virus

Select the correct match :

(1) Alfred Hershey and - TMV
Martha Chase
(2) Matthew Meselson — Pisum sativum
and F. Stahl
(3) Alec Jeffreys — Streptococcus
phneumoniae

Francois Jacob and

(4)

Lac operon
Jacques Monod

Offsets are produced by

(1) Mitotic divisions

(2) Parthenocarpy

(3) Meiotic divisions

(4) Parthenogenesis

Which of the following flowers only once in its
life-time ?

(1) Jackfruit

(2) Mango

(3) Bamboo species

(4) Papaya

Which of the following has proved helpful in
preserving pollen as fossils ?

(1)
(2)
(3)
(4)

Cellulosic intine
Oil content
Pollenkitt

Sporopollenin

110.

111.

112.

113.

114.

115.

116.

Epsa Qeansalld gaumrsl CQUTBSSILL LG
orgl ?

(1) ABO @ss cuens : @enent mhi@HSeTEnLD
(2) XO eauens umed Hlirewrwid : Ceul [H&Slafl

(3)  ulLmanflufed D UOs L () SievedadsaT
578 2 HUSE
T.H. wrigmesr

(4)
Fflwner saperp CaTHESHSSD :

(1)  yewer sgyb @ N IGen SiHledlwe
SIDEHTTED 2 (HeUTSSLILIL L ).
avliemedCurGambser LigliGuwmiied
FHLIOE erer.

“Qevawriiy” eremm Qemerened LwWETUGHSSH WeT
coLipmigeflen avGLane.

miamantianL THnSMmS ety ST

S. <y evrGuoetr.

: QenamriiLy

(2)
6))
4)

ugd urgisrssiiul L. DNA psorsssdler <lie)s
smernl (WPsedled Plwiu’ L gl erdled ?

(1) ursefwb

(2) smeurd

3)  yeyans

(4)  emauryev

sflurst Qur@pdyerarans Caib0s OGS :

1) <ol Ganirad - TMV

wHmibd wrrgsT Caen

wrEyy, WBsbFe LHMID - UFD FL L eULD

F. svCLamed
s Qegoeiflen

(2)
3) - W QLG nsrssen
ElGwmeflCu
(4) ugremsmiev Coal - @rd @uUTTET
wHmib Ceyd wmermi
‘Do oLl1IQFDa6T @garmd CxmermSl g
(1)  @empmbd L@LiLser
(2)  smeyprs saflunsd
3) @emwed LGLYSET
4)  s@apr QargCampod
Epsareupmer serg eumpprailey Cr em wan
LB weieug erg ?
(1)
(2)
3)  eprdle Anmlerd
4) uwnumef
EPSST_cUDHMIET DETHSSIHISETHMET
Qsmergowrst Cuapeudld 2 gellfluyb erarLams
Hoisss gl ?
(1) QeoguCamevrd yar 52 amn
(2) cram@enri Qsmeig(HLILI
3) CGumevendl
4) wGurCrrumeedesfiler

Lieorm
Lo
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117.

118.

119.

120.

121.

122,

123.

Secondary xylem and phloem in dicot stem are
produced by

(D
(2)
3)
4)

Plants having little or no secondary growth are
(1
(2)
(3)
(4)

Sweet potato is a modified
(1
(2)
(3)
(4)

Pneumatophores occur in
(D
(2)
(3)
4)

Casparian strips occur in
(1)
(2)
(3)
(4)

Vascular cambium
Phellogen

Apical meristems
Axillary meristems

Deciduous angiosperms
Conifers

Grasses

Cycads

Adventitious root
Tap root

Stem

Rhizome

Free-floating hydrophytes
Carnivorous plants
Halophytes

Submerged hydrophytes

Pericycle
Cortex
Epidermis
Endodermis

Which of the following statements is correct ?

(D

Selaginella is heterosporous, while Salvinia
is homosporous.

(2)
3

Horsetails are gymnosperms.

Ovules are not enclosed by ovary wall in
gymnosperms.

(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1)
(2)

Mushrooms belong to Basidiomycetes.

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3

Cell wall is present in members of Fungi
and Plantae.

(4)

Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

117.

118.

119.

120.

121.

122,

Qmeisdamas sTeurs sSamge @b Hlane
egald WwHhmib LCermwd 2 (Heurd@eug)

(1)  eurev@gert oy ss55%

(2) uleL s5s5da

) mafl ysa58a

(4) Csrawr 55555

@rermb  Hlewe eueriéflanw APlw  sjarellGeor
g PpHNID @amnCam 2 6Tem gmeurmkigeT
(1) @eouydli UsEh sTeurkser

(2) Csrefls.Cuitager

3)  ymser

(4) ogslger

srgsareleTefls Spmdd wrHnimeTs @ mULg

1)  Ceupil Geuir

(2)  <yefll Geurt

3) s

(4)  wir flossear®h

sours Couliser smeanrliLi(heug

(1) selsg Oss@b Bissreurrser

(2) usSHyemamd STeurmhIseT

(3)  sziiy flog sreurhiseT

4)  eppdu shae Bissmeurmhiser

STELLTHWET LI L &6T SmenrliL(heug)

(1)
(2)

Quflengsdler

Ly emf]

3)  upsCsra

(4) <=55Csmed

EpsarrL mpmsailedr sflwnergy org ?
(1)  QeardClarder @ mslse alamaub
sreveiaflum emAde cuamsu|ors o drerar.
(2) @Hegeurd Quraflger ererLiame
b Carmen G LITD&ET 2p,ame.

3) HwGammevCuibsaied @GoEeT @0s
sauflemd @GpruLalaame.

(4)  sseav LHMID Gl Fav Sl @) Feiriq b
sar(haer Qurgeurss FeanersdmLriudaoame.

123. seaimner sapenp Coib0sHESED

1) prus@eL & srermearger CuEiqCuimenndr
au@Llienu Cabgamael.

(2)  CurCrm yeurssailed QuUTIGSTOSET
@LUGuwire] HmLD 2 el L
SENOLIL|SHETTS 2 ETET6.

3)  yepemaser LHMID WerreaTGL < dweuhmieT
Qedaeulr 2 drerg.

(4) Cuafym seliigg wHn Currasafle

awl GLrsrerLflwniger Gaaader <hmed
GOLOUITRIGETITS 2 _GTETET.
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124.

125.

126.

127.

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii. Alist that enumerates
methodically all the
species found in an area
with brief description

aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
(1) i ii i iv
(2) ii iv iii i
3 i iv iii ii

(4) iii iv i ii

After karyogamy followed by meiosis, spores are
produced exogenously in

(1)
(2)
(3)
4)
Winged pollen grains are present in
(1)
(2)
(3)
(4)
Which one is wrongly matched ?
(1)

Alternaria

Agaricus

Neurospora

Saccharomyces

Cycas
Mango
Mustard
Pinus

Biflagellate zoospores

Brown algae

124.

125.

126.

127.

Epasam_cupmer Fflwrer el aows Csibshss
Qzrgd I wpmibd QsmEd -5 Qurmss er(psis :

Clasr@dl 1 Clargdl 11
a. 2 @ff L ugLiu@SSLILULL STeur
STUrSQsTGULY  wHnID elenE QMm@ a6

Qsmapr @)L Lb.
b. SpeyCGare . @flLgdléd sreniu@Bibd
Simandg Hbdlerhisaeter
sm&swTer eleufliyLer
Fnlq W euflenaddlrLomes
SETLHSNEE 2L Ll Ig.
c. SHEsTHusbiil. 2 oisd SiPpssruLl L

sreuy wrdlfsdr grefléd

UL LUl (h eeussliu(hib

@LLb.

d. &l Leuement iv. LeGoum LéFTesamar
seTLHw 2 a6 b
LIS SEeTD <Si6umHmlebr
LD M) & EHEITU{LD
Ul quedl it L e Sy
LISS&LD.

a b c d

(1) i il i iv

(2) i iv iii i

3) i iv iii il

iii iv i ii

4)
avGurnirger sTAGUrsTS Qgrrbg eOH&sHIAMaey
Qeuafiiypons GCaremmiegl eTdle

(D
(2)
(3)
(4)
DGO OSTHSSTISETHET STenTliL(heUg
(D
(2)
(3)
4)
oTg SeuprsL QummssLiLIL (HeTerg ?
1) Qw smsuliany

GeGumi

<L irGerilum
D& miflsan
Bl Crmev GLmym

F155CyTen oS

MNFHGV

Lo

s0G

M LIGITGI

- UL YOS TEHEET

(2)

Qegbiom Cariieuser - wrigrerdum

(2) Gemma cups —  Marchantia i . q St e
(3) Uniflagellate gametes — Polysiphonia 3 gm fgm %5;?5 M LTS foLmeniiT
SLOIL_(H&
(4)  Unicellular organism - Chlorella
4)  em Qg 2uif - &Cermllyebeur
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128. The two functional groups -characteristic of|128. sissemyseien @ Apliurear clamarstsm@Esser
sugars are (1) sriuemered LHHID GosHed
(1) carbonyl and methyl (2)  smrumeTd wHmID LmeLGLIL
(2) carbonyl and phosphate (3)  aeanl yrssld wHmibd Qs
(3) hydroxyl and methyl (4)  srrUMETD WHYID DL TTESleD
(4) carbonyl and hydroxyl 129. Epsaieupmer gaflsCaismauier gofl allaerudenr
129. Which of the following is no# a product of light efleanlLmmar Sjebeunsgl erg) ?
reaction of photosynthesis ? (1) NADH
(1) NADH (2) NADPH
(2) NADPH 8; gTP
(8 ATP 130. Spsas Xyg'en iT 4G MGwim i ?
. Epsarieupmer YCrmamACwT Syebevrsg) erg) ?
(4) Oxygen (1) ewsCsmunsiefluin
130. Which among the following is not a prokaryote ? A
i (2)  prevms
(1) Mycobacterium (3)  ensaCyrenindan
(2)  Nostoc 4) oG milum
(3)  Saccharomyces 131. @easgmer @uEsD @samed UTSHLILmL agdame
(4) Oscillatoria 1) gaf
131. Stomatal movement is not affected by (2) 0, Gedlay
(1) Light (3)  Qeautiu Hlevaw
(2) Oy concentration (4) CO, Qs
(3)  Temperature _ 132. Garées 2 pirilser Qeupdle umGsndlemmer
(4) CO, concentration (1) s10y @user Camemse
132. The Golgi complex participates in (2) ursefurssaid sFeurdlgze
(1) Formation of secretory vesicles 3)  Qamupuiy Sfle fagsse
(2) Respiration in bacteria 4)  onlGerm oyfla Heverésd
(3) Fatty acid breakdown 133. Spsam_aubgier 2 L g(mLoan] GNSS ergl
(4) Activation of amino acid sflurarg ? . N .
133. Which of the following is true for nucleolus ? (1) C(_’)@J @@5 .56“@4 SR _&mm"!"" )
(1) It is a membrane-bound structure. 2) @D"C']_Gm“?@ Goop Crenpiaifled LIkIE
. . . adlserme.
(2) It takes part in spindle formation. . Qum Qecraaila auf
(3) Larger nucleoli are present in dividing cells. (3) H&UY mﬁm,l_ LI 835.61)65 @ L
(4) It is a site for active ribosomal RNA =-o0 _Mﬂ 5”Gmuu®. GN_H) e .
synthesis. (4)  erCunGembd RNA swrflider gerb.
134. The stage during which separation of the paired 134. @grr.mr ,@g,m 5 obs  GCrmGorGembser  Gflw
. < T&@ED Hlane
homologous chromosomes begins is 1 G )
(1) Diplotene 1) whiGemmesr .
(2) Diakinesis (2) e wnmsadled
(3) Pachytene (3) urélieer
(4) Zygotene 4) asGsmedr
135. Stomata in grass leaf are 135. ymsafler Qanasgiamaersar
(1) Kidney shaped (D) Aypys eugeureng)
(2) Rectangular (2)  sgipwreang
(3) Dumb-bell shaped @) 2@s@s augarearg
(4) Barrel shaped @) Souml eugeunang)
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136.

137.

138.

139.

140.

141.

Nissl bodies are mainly composed of
(1) DNA and RNA

(2) Nucleic acids and SER

(3) Proteins and lipids

(4)

Free ribosomes and RER

Which of these statements is incorrect ?
D
(2)

Glycolysis occurs in cytosol.

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.
(3) Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Heterodont
(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Homodont

(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Allosomes — Sex chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Which of the following events does not occur in
rough endoplasmic reticulum ?

(D
(2)
3
(4)

Protein glycosylation

Cleavage of signal peptide

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide

simultaneously. Such strings of ribosomes are
termed as

(1) Polyhedral bodies
(2) Plastidome

(3)
4)

Polysome

Nucleosome

136.

137.

138.

139.

140.

141.

Hlevedley
srenrliL(heugl
(1) 1g.6T6br.cJ. LOHDHLD YT GTEHT.6F.
(2) Puseais oden womb SER
3
(4)

emeu(md Fapmiseiidr Seuprerg et ?
(D
(2)

2 piiiyseflé Qu@BLLTETELWTS

HUSmsEr wHmd dlrg@aser
saiss epCunCembaer wHmibd RER

Saneraralldlev engl CLmameled Hlapdmg.
manl rmer  Aamis@&Ger gn@nd NAD  &ser
@Qm&ED Uy daeramedlslen Hlsplb.

(3) TCA sypméluller Qprdlaear el L maramriqflum
wrfgefled 2 drarg).

4) yp ewlLrsrargfur Feuelld <psHGLL 1qe
umeUmiGeager HlapLb.

waflg Ldeeamwlienu edaré@h GMlser wrene ?

(D

S&CaHTLTer, @l oeamuCuimmeirt.,

Gami 1 Crmme

(2)  yerGrriner’, GorermapuGuim_mer,
CammCGromL_mebri

(3)  S&CasrLnmen, enlo.emuCuimmesL,
CammGomL_mebr_

4)  yepGrrimer, el o.eruGuimmeL,
Gam 1 Crmmer

seupns Qummbdlujerer @aeamanw Carbbs® :

1) <0CerCGambaser - umed

&CrmGurGambaer

(2)  &p QuinGseangfs - L- eugeu
&CrrGLrGambaer &CrmGLrGad

3)  embribyev - LiGermeeir
&CrrGuwrGambaer auGeuaear(Ha6T

4)  ureen - @meurpelsafler
&CrrGLrGambaser oaren &L (&6

Gereumd erhg Hlapey QerpCemriurer oslnlerrs
cuamafeararedley (RER) flspeidlsvsnsy ?

1
(2)
3
(4)

4rs faerCasrlenssbd
Ghleng CQulienL(haefler eTey
LIS LigY

ureGUTILA G 2 (HeuTésid

ueug  urdl@uieL(Basamer  @Cr  FowSSHD
2 meumss ue enyGunGembger @ MRNA e
@aeryb. Assmsw Qsrii erGurGsmbsaefer
Quuwir

(1)
(2)
3)
(4)

urel@anL g 2 miLiL|ger
Wermevig CLmbeser
umredllGamib&er

Bl seflCurCambsaar
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142. All of the following are part of an operon except 142. Yereumeuareupmiet  @ulrrGearr(h  QaTLTuHDS
(1) structural genes ergl ?
(2) an enhancer (1) ooy wyua
9 ..
(3) an operator ) &UJFT‘&)‘@ e
3) Qu&s wruay
(4) a promoter 4)  Qewdu® wrLg
143. A woman has an X—hnl?ed condition on one of her 143. o5  OQuanefigneoLw X @GrmGorGsmad
X chromosomes. This chromosome can be ) . . . .
i ) X- Qevewriiy Crmuip@fu sryanflger o ererbgeafcn
inherited by . . . )
Sgmar OS5 samepanuid CumnLeuTsar wmr ?
(1) Only sons (1) wserseT L (HID
(2) Only grandchildren (2)  Cup9ereneraar WL HLD
(3) Only daughters () ITY: o1 2: 7o) T (1)
(4) Both sons and daughters (4)  wser LOHMID DSETSHET
144. According to Hugo de Vries, the mechanism of |144. adwyCsr g effev Ly ufamosHer Gawdpea
evolution is wrgl ?
(1) Saltation (1) sroGLoagerger
(2) Phenotypic variations (2) ypCsmhm wrUTHSET
(3) Multiple step mutations (3)  ue ughlee FefbrHorhiser
(4) Minor mutations 4)  APflwere| SHeiomHphiser
145. AGGTATCGCAT is a sequence from the coding|145. ¢ Saflar @dpan Qapuid o dmer cuflas
strand of a gene. What will be the corresponding AGGTATCGCAT erafled, Lig@QuBssiur . mRNA
sequence of the transcribed mRNA ? e syger Qarryenw eauflens erg) ?
(1) UGGTUTCGCAT ()  UGGTUTCGCAT
Al A A
) GGUAUCGCAU (3) AGGUAUCGCAU
(4) UCCAUAGCGUA
146. Match the items given in Column I with those in (4)  UCCAUAGCGUA
Column II and select the correct option given
below : 146. Spsareupmer eflurer e emws CsibOsHss
Column I Column I1 Qzred I wpnibd Asm@d -5 Qurmss er(sis :
a. Proliferative Phase i. Breakdown of Qsred I Qsmed 11
e‘nc.lometrlal a. Qumss Hleara 1. eramrCLrm@r Muw
lining UL HAogsed
b.  Secretory Phase ii. Follicular Phase b. sr&@b Hlave . coumedl@amit Hlena
c.  Menstruation iii. Luteal Phase c. wrselL T iil. @ iqgwied Hlanew
a b C a b c
1 i iii ii 1) i iii ii
(2) ii iii i 2) ii iii i
(3) iii ii i (3) iii ii i
(4) iii i ii (4) i i ii
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147.

148.

149.

150.

151.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(D
(2)
3
4)

Mutualism
Parasitism
Commensalism
Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(D
(2)
3
4)

Sacred groves
Botanical gardens
Wildlife safari parks
Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column 11
a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
4) i ii iv iii

In a growing population of a country,
(1) reproductive individuals are less than the
post-reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) pre-reproductive individuals are more than
the reproductive individuals.

4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(D
(2)
3
(4)

Latex
Roots
Flowers
Leaves

147.

148.

149.

150.

151.

wmbNelwedler  DeTqmULT I4E  (HhSSmaT
swrflés  erelcuamswnar @Qarsgsreans 2 nejlpenn
vweruGE g ?

1) vdipgipey

(2) gl (heawreni 2 peay

@) powioans 2 e

4) efar 9Pe wmiLamil 2 ey
Qemeu(meuameupmier ‘CoupdlL LimgismiiLy
(PDDLDVTSS oTgl ?

(1) Garellh srhHser

(2)  smeureilwed LmisT

(3)  euar eflmiE Fooumfl LbigGT

(4) Mg aund

EpsaLeupmer eflwrer e mws CsiblsHss
Qzred I wpnibd Asm@d -8 Qurmss er(Wsis :

s 1 seid 11
a. Wl HCym.96Csageri. UV-B adli eiga
b. fiLsfe) Aarerr@®  ii. sTLfEF6
smpajflasems
Broyse
c. uafl GmoH iii. oer” L O@uUmT(HET
WevgemLo
d. b LiNpHge iv. sfley Cuwerareio
a b c d
1 i iii iv ii
(2) iii iv i ii
(3) ii i iii iv
(4) i ii iv iii

(1 BTL_Iq6 GUET(HLD spemS6lETanaulley
(1) Yer Qer@umss Hlavoulle 2 eTer BLITHEMET
A @ar@umss Hlaveuler o 6Ter BUITSHET
GO

@artumss Hlaneulled o 6rar BLITSEHD (6T
@Qartumss  Hlaveulldr o6t BUTSEHLD

FIOLDMTE 2 _GTGTETIT.

(2)

3) @aumss Bleeulld o dter pUTsmer 6L
e @antumss Hlaeulldy o emer  BLITSHET
SSsh.

@Qartumés Hleavauded o emer BLTGmeT 6L
wer @Qartumss Hlaeuild o eter BUTGET
Gohe.

umind Gegufer erhs LGH “evCws” erarn Cumans
w@Ebag sWTh&Es LweatLhHng ?

(D)
(2)
3
4)

(4)

Covl_L_&ev
Gaurrger
DG ITHGT
@eaET
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152. Among the following sets of examples for|152. &flfiflene uflenrmosShH& Qar@ésiur L
divergent evolution, select the incorrect option : TBSgsET_(Hseller Sauprers ergl ?
(1) Heart of bat, man and cheetah (D auduamaured, weflger wHmid spredicr Gguib
(2) Brain of bat, man and cheetah (2) aucuaraured, waflgen wpId Exprefiar apamar
(3) waflger, eucuameurd  wHMD  Esmellen
(3) Forelimbs of man, bat and cheetah (PETETEISTED
(4) Eye of octopus, bat and man (4)  <Y¥sL U6, aciarelTed WHmID alFeiler sar
153. Which of the following is not an autoimmune 153. ﬁ]@T@J(?@JGDT@Jﬂ)QJdT agl sen  adifiy  Gpmo
disease ? {66V - o . o
(1)  Rheumatoid arthritis 1) rﬂ”)_'—'—”_”"@ %r@mm—“}m
(2) Alzheimer’s disease 2) oo CS(rjr, m
(3) Psoriasis (3) (Bacr.rrﬂu_mé]mu
(4) Vitiligo 4) A geGam
154. erCrm Qsraelermed SLSsLILIHLD
154. In which disease does mosquito tran.smitted waraufGemd Hearfi prevfsefied preL L
{)ath(ilgetr} cauie? chronic inflammation of <LHE gHUBSHEDS ?
ymphatic \‘/es'se S (1)  <evsmRurdev
1) A'scar1a51s . ©2) A Cpmi)
(2) ngworn‘l d.1sease 3)  eedlCuengwndlen
(3) Elephantiasis 4)  ouSeLwurda
(4) Amoebiasis
155. umed sWlprs wIMD CUTE SiFem 261’ L F55) LI
155. Conversion of milk to curd improves its aThe emeul L Ll Siame| 2 witeugmed 2iglsilEsl g
nutritional value by increasing the amount of 1)  eeur_LiSer A
(1) Vitamin A (2)  eeur Lifar Byy
(2) Vitamin By
@)  Vitamin D 3)  eeuLler D
itamin . )
(4) Vitamin E @ @aridar B
156. g GOsqiblsaiier (perarmhismesarf e
156. The similarity of bone structure in the forelimbs TIDUMLLIYGD 2 6TeT @hmiend eTEH S,
of many vertebrates is an example of QICEEEE N
(1) Analogy (1) ame)
(2) Convergent evolution (2) @elflene ufarmom
(3) Homology (3) Cammoregd
(4) Adaptive radiation (4)  swpell ureue
157. Which of the following characteristics represent |157. weflsefler @uéseians umpoufuses slwurs
‘Inheritance of blood groups’ in humans ? NersGeus 65 ?
a. Dominance a. fHlep Curhised
b.  Co-dominance b.  gimen Curhised
c Multiple allele c. U GO SNSdser
d. Incomplete dominance d.  @opCurksd
e.  Polygenic inheritance € e gy urmbuflui
(1) a,bandc (1) a,buwpmide
(2) b,dande (2) b,dwomide
(3) b,cande (3) b,cwpmidbe
(4) a,cande (4) a,copmide
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158.

159.

160.

161.

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
3
4)

hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, estrogens
hCG, hPL, progestogens, prolactin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT
(1

increases the concentration of estrogen and
prevents ovulation in females.
is an IUD.

blocks estrogen receptors in the uterus,

(2)
(3)
preventing eggs from getting implanted.

(4)

is a post-coital contraceptive.

The amnion of mammalian embryo is derived
from
(1)
(2)
(3)
(4)

endoderm and mesoderm
mesoderm and trophoblast
ectoderm and mesoderm

ectoderm and endoderm

The difference between spermiogenesis and

spermiation is

(1)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

3

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are

released from sertoli cells into the cavity of

seminiferous tubules.

158.

159.

160.

161.

spiedpere LFTwflés GerTaear_meurd &rdsliu@Him
anmrGuwrersdr wraeu ?

(1) hCG, hPL, rreviqysge,
&G e

hCG, hPL, | CyrQeevr GLmegerr, Frevlg Fagehr
hCG, hPL, | Gyr@eevrGLmeger,
LUCrmevmdig 6t

Neorsser, <y
(2)
3)
(4)  hCG, yGyrQeyev_GLmegewm, FravIgqTeg6H,
&@p&CHTHTTL 19 ST (H&ET

<

FmCaned’ ereimy H(HSSL FTHELD
(1) Quemrsefled meviqrmer eTeney 21iFlsMSg)
S Csd Qesaflurgane 5HSSHDS.

e IUD.

SHUMUUNQIETET FFevL e erhLllsenar
waDEE SMHAPLal LFusams SHIDGI.
HemTTge)d @, e LwemLhSSLU B

H(HSSHEL_ FNGETLD.

(2)
3

(4)

Ll iq seifleir
ereupMed(mbg Qarauriu®Sng ?

(1) eramGLr@Libd whmd BCem@L b
(2)
(3)
(4)

&(edl gy eTerT <} eflwimen

BCer@Limd whmd HCrm-Gumiermevi
er&GLrGLmbd whpd BCeT@ LD

er&CLTQLTD whHmib ererGLrGlLimb

e @ umAGuI@eefléleven &@Ld
aGuTBCueagaisEh @enLuled 2 drar
Coumiur(hser org ?

1) evQumsCureefeverble
av@uirol L rGameursser 2 (heundlerner;
av@uTsCueagaie ev6umom g (Hser

2 (Heumdlemmerr

QU GurCgeflflevelicr @arGLmed
QedgefledmBbg evCumol GLrCareumdaser

(2)

Qeilafl.Cure @peflaer

Qauafllilitiu@dlemmer; av@uTSGuaseflen

av@uil CLTGsmeUTSS6T 2 (heumdlermer
3)  evQumSCurealfeveldler ev@ T Ig(H&ET
2 peurdlemmen; 66 UTBIGLIag e
QUL LT Gareurssdr 2 (meurdlennes
QU GuIr@ ey eflélev el e

av@uil L rCareunsgser o (Heourdlemme;

(4)

av@QuTsCuegaiad ev@umol GLrGareunssar
Qaslefs.Curen @Lpefleaer
Qauafui L@ S ermer
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162.

163.

164.

165.

Which of the following is an amino acid derived
hormone ?

(D
(2)
3
4)

Ecdysone
Estradiol
Epinephrine
Estriol

Which of the following structures or regions is
incorrectly paired with its function ?

(1) consists of fibre
tracts that
interconnect
different regions of
brain; controls

movement.

Limbic system

(2) production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

Hypothalamus

(3) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

band of fibers
connecting left and
right cerebral
hemispheres.

(4)

Corpus callosum

The transparent lens in the human eye is held in
its place by

(1)
(2)
3
(4)

ligaments attached to the iris
smooth muscles attached to the iris
ligaments attached to the ciliary body

smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1)
(2)
(3)

Progesterone and Aldosterone
Estrogen and Parathyroid hormone

Aldosterone and Prolactin

162.

163.

164.

165.

NI € SBlwsH Sl (mHS QamewryriL_ L
anmiGumer erg ?

(1)
(2)
3)

(4)

eréenL_Gamebr
el e Guimed
QB o L6t
mreivlg.enGuimed
19 6treu (6L eTeU DI ET CTHS S{EMLOLIL S|S0
QewuCear® samrs QuTmbSwerarg ?
1) bl9s Qsr@d : epeerulen Lo LGS smar
@anenrs @b BT
& &N &6 6T
Qs menTiy (HEGLD, @uss
Qewdsamer
SL_(QULBhSSID.
(2) @apuiGurgeroey : &rliL apmiGuorarsaman
2 Hugd Qewig, Geul Lib,
uél LML FTESmS

ETuHSSILD.

(3) Quw@meer ! &eUmED WwHmib smirgGuim
PENTRTA STEE: T euUTE @G SaflFengsHaner
s_OUUBSSH DG
(4) sriuev sCeomab @ aug WLHDL @)L g
Qu(mepener
T

@emard @b BT HHEDSET.

weaflg sansaid o der gqafl 2@ b elldena
Sigen Hlaneudled ergerm eped HmssILOE DS

(1)  efavGer® @eaanbdmsEGh dlswehser
(2)
(3)

aflevCar® Gaambd(HE@ED Candlasaer
FOlwf 2 muiCur® G evenhbd @0
&0 e (D GET

4)  ENwf 2 miGur® Qeveantbd (@D

Querdlasger

e GurCumyflaveiled waHu L@ ufd@n
anmiGumer erg ?

(D
(2)
3

HGrrlleyevig Grmetr obmid yedL_maviq Gymer
FFGIVIGTERGT oMM LIMFTengrmul(h anmirGomes
<L mevig Grmer wHOLD LGTTemssig 6

(4)  urgrensrmii(® mirGLomesr WHmILD
(4) Parathyroid hormone and Prolactin '&J, . o ¥
LGymeomdsiq bt
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166. Which

167.

168.

of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1)

Increased number of bronchioles; Increased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Inflammation of bronchioles; Decreased
respiratory surface

(4) Decreased respiratory surface;
Inflammation of bronchioles

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

Between right
ventricle and
pulmonary artery

b.  Bicuspid valve ii.

c.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i iii ii

(2) i ii iii

(8) il i ii

(4) i i iii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I1
2500 — 3000 mL
1100 — 1200 mL

Column I
Tidal volume 1.

Inspiratory Reserve  ii.

volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) i i iv ii

(2) i iv ii iii

(3) iii ii i iv

4) iv iii ii i

166.

167.

168.

SELGIOT  LOHMLD  eTbe.lAfnreley  HienFuiyeSier
Blevoenw pernGur sflwrs @diug erg ?

(1) YyrerensCuirevseter eremeantsans
s fgsd0; seurs Ly oFsfssd
(2)  seurstiugliy SFsMESe0;
WrrerensCuimersatled spHdl erhuB e
(3)  WgrarenasCurdsefld spnHd gHLBS®; Feurs
ULl &enged

Feurng ULy Gensd; LrrearansGuimdsafle
Fphé gHLSD

EpsaLeupmer eflwrer o mws Csiblsdss
Qzred I wpnib QsmEd -5 QurmsS er(ais :

Clgr@dl 1 Clasr@dl 11
a. epellgp eumedey 1. @Lg gl fwbd wHmd
@L g Couerigilssler
@enLudled
cuegl Glouemig fM&dlar
LHMILD HieoTuiTed Swoefl
@aenLuldle
cuegl erlflwid WwHmILD
cuegl Gleuemg M&dlar

(4)

b. @meilsp curday ii.

C. @rall L eumdey iii.

@aenLuldle
a b c
1 i iii ii
2 i ii iii
(3) iii i ii
(4) ii i iii

Epsaeupmer #flwrer el mwus CsibOsHss
Qzred I wpnibd Asm@d -5 Qurmss er(ais :

Clar@dl 1 Clar@dl 11
a. &gy i. 2500 — 3000 mL
b. o @rpFas smiiys ii. 1100 — 1200 mL

Cs585 GameTemenay

C. LD&eUTE RFIEHS iii. 500 — 550 mL

Qs méTerera]

d. sm@ Qarerereray iv. 1000 — 1100 mL

a b c d
(1) il i iv ii
2 i iv ii iii
(3) iii ii i iv
4) iv iii ii i
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169.

170.

171.

172.

Which of the following gastric cells indirectly

help in erythropoiesis ?
(1)
(2)
(3)
(4)

Mucous cells
Goblet cells
Chief cells

Parietal cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1 i ii iii

(2) i iii ii

(3) iii ii i

4) ii iii i

Which of the following is an occupational

respiratory disorder ?

(1) Silicosis

(2) Botulism

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle

contraction because it

(1) activates the myosin ATPase by binding to

it.
(2)

detaches the myosin head from the actin
filament.

3

binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin

filament.

169.

170.

171.

172.

erflsCrrCumuflenvs s LDED(LPFHLOTE 2 ab
srevl_ Mg QFser orgl ?

(1)
(2)
6))

(4)

W ssev QFaosar
Cariiewl Qadser
&1 QFcvser

LI L6 Q&F&6r

Epsareupmer #flwrer dlaLamwus CoibOsOss
Qared I wpnibd AsmEd -8 Qurmss er(Wais :

Caradl 1 Clargdl 11
a. caulifiCarmeger 1. pevTigs Foaflane

b. &Germyeflesn . @rssb 2 N

. peLler 1. urgsmiy QEwdpenn
a b c

(1 i ii iii

(2) i iii ii

(3) iii ii i

(4) ii iii i

ereumeuareummieT ergl Qamfler QgTiTurer seurs
Camarmy ?

1) AeCasrdlev

(2)  ur@pedsmd

(3)  yndrrélev

(4) e Q&

TIDL FMF FH(HBIGSD STOFWD &S Liesy
audlsfngl gllarafed

(1)  ewCurfler ATPase &L @Qenanthgl @Fanar
Qeudu@®ssHng.

(2) eowlurfler samaeni dig 6
@apsailadmbg 9N&HDg).
3)  ©CrmGuraiayL e @aenhgl,
aD&ESHIUL g HEGD epCunslasasrer
Qewuddper uGdsamer QeuallliLBSHE DS
(4) QuGuréler Gm&E GeenliL| HMID g6
@apsaiaie_Cu ghuBid WenarliLsamer

EICEE3 LR
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173. Match the items given in Column I with those in |173. &psar_eupmer eflwrer dloLamwus CaiblsOss

Column II and select the correct option given Qsred I wpnbd GgrEd -0 QurBsd er(Wes :
low :
below Clasr@dl 1 Clar@dl 11
Col 1 Col I
orumn orumn a. dearGam@fwum L epr@seid wis
a.  Glycosuria i.  Accumulation of uric e Caigan

acid in joints

b. Qsar_ ii. AmBresdneer
b. Gout ii. Mass of crystallised ) .
s . SrerlIL(HLD SHeor
salts within the kidney
LIg &LDTET 2 LIL|&eET
c. Renalcalculi iii. Inflammation in ] ] )
glomeruli c. flé sro@Ema iii. gGarmoepeneruded
ghuUBLD FLpHE
d. Glomerular iv. Presence of glucose in ALBD
nephritis urine d. @Carmwenermi iv. Apdfle @EpsCamen
a b o d QmoLifl g 60 2 GTerng)
1 i ii iii iv a b c d
(2) ii iii i iv 1 1 ii iii iv
(3) iii ii iv i 2) ii iii i iv
4) iv i ii iii (3) iii ii iv i
174. Match the items given in Column I with those in 4 v i ii iii
Column II and select the correct option given
below : 174. Spsareupmer sflwumer e amws CsiblsH s
Column I Column II Asmed I oppid sred - Auressl ewss :
(Function) (Part of Excretory AEUGEN Csna@dl 11
System) (Qewiser) (5fay
. . ) B&5Qsm@dludler
a.  Ultrafiltration i. Henle’s loop LG4
b.  Concentration ii. Ureter a. [IET aulgsLl g i.  Qemeed cuameray
£ uri
ot urne b. AmBfler < iey i, G
c. Transport of iii. Urinary bladder
urine c. &b s gsriupse iil. dybr e
d.  Storage of urine iv. Malpighian d. Emipi Ceafliiy iv. e el9aluieh
corpuscle iy Clge
v. Proximal Ve (peTenid .
convoluted tubule IBAGRTL
a b c d a b c d
1) iv i ii iii (1) iv i ii iii
2 v iv i ii 2 v iv i ii
(3) iv v ii iii 3) iv v ii iii
4 v iv i 1ii 4) v iv i iii
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175.

176.

171.

178.

179.

180.

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(D
(2)
3

Presence of caudal styles

Forewings with darker tegmina

Presence of a boat shaped sternum on the
9P abdominal segment

Presence of anal cerci

(4)

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(D
(2)
3
(4)

Reptilia
Aves
Amphibia
Osteichthyes

Which one
homeotherm ?

(1) Chelone

(2) Camelus
(3)
(4)

of these animals is not a

Macropus

Psittacula

Which of the following organisms are known as
chief producers in the oceans ?

(D
(2)
3
(4)

Diatoms
Cyanobacteria
Dinoflagellates
Euglenoids

Which of the following animals does not undergo
metamorphosis ?

(D
(2)
3
(4)

Tunicate
Moth
Earthworm
Starfish

Ciliates differ from all other protozoans in

(1)

having a contractile vacuole for removing
excess water

(2)
3
4)

using pseudopodia for capturing prey
using flagella for locomotion

having two types of nuclei

175.

176.

177.

178.

179.

180.

Qe srlumaTyFSlger bHmId  Guer  srliume
L EFSlsamer eTLILIGRTLSET (ped sarrHluieomd ?

(1)

cumed flfled 2 erergmed

(2) et @pa@seaiar  CLsllerm  smHELWTS
2 _GTeTgmed
3) Y-ag alipn saTLsHed ULEG euge

GVGELiTemD 2 eTemgmed

(4)

woLYMmWPs CSTDLSET 2 6TaTsmed

Qeflorer LDETL_& S SaflienL HMID
Simreeilieuam 2Ll (pglasablisdr erg ?

(1)
(2)
3

(4)

DI [TGL 60T

GJ GG

@ meumpellser
<pevle S&6v

Qemeu(meuareupmer Qeuti  @rss  ymentlwmnm
cllevmaig ergl ?

(1)
(2)
3)

4)

&EQevmeir
GCaGleen
wr&GrmLen

S L rs@Ger

QuprsLdsafld QLT o HuSHwmeryrs
smsULGL 2 Wflser erg) ?

(D
(2)
3

(4)

LWLl L ID&ET
swGarrumsle NN&s6r
aL_Garm ol lermlaGal (HaeT

wsatarmil(Hser

ereu(meuameudmIcT  GuETT
Blaws elleni@ erg ?

1) gueCsl (Hser

(2)  @pgi U&s

(3)  warryp

(4) pLesdly Ber

2 BTHOD  ElEsprs

o
er&asTranssTed Geumui(hsemer ?

(1)

LCrm GLnCGareunssefedmhg G (Haer

Blens Bevy GeuelCubm smmE maETELD
CELIIGEICT
@erenw

Lwetu (&g
@LQuuiteyssrs Seflevpsamer LweaTLIHSSID

(2) Qg LiLgH s, Curelsreorsamar

3

4) @uerp euamswrer 2 U smaned GUHD(HEED

HLAAC/KK/Page 41

SPACE FOR ROUGH WORK

English/Tamil



SPACE FOR ROUGH WORK

HLAAC/KK/Page 42 English/Tamil



SPACE FOR ROUGH WORK

HLAAC/KK/Page 43 English/Tamil



Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.

SPHEVTL. M6 MTHENENT H6UETTIONG LIS SEYLD &

1.

Csitey erpglueuiaser samasmeantliLimert Gal @b
Curg ghigerg A@LS D dLows sTaniss
Gouar(HiLd.

CsiTe 6r(pgiLIaIT eTeu(HLD SearamentLiLimerler
Apriy seiwdHudendl, sieureurr
@b A mhg Qgde

SIS EHILIL DT L TTSGET.

Caitey erpglucuiseT Shsers  Semuigierer
samasrenflliumeriLd @@y eumas LSe|s
QasQumiub QL  Geuam(®b WwHmb  Shs6Tg
dMenLggrener sienp Csireys sersmentiumerflb

Qar(hss Y erarGry Qeuefludled (AL

@IS ESILIHGUTT. BresstL_meug peom
esCwmiLd g Caiieuirse, SBIS6NG
NewL_ggnrenen S|mm s essranessiLiLimen b

Sefl&anned Classinans smaLiLG e LHDID )
Seurgl QummiunHm QFweons smHSLILI(HILD.

Wenergy/srgryent  seaefllbdasdr  LweaTLHSS56.8)
s Qaiwtiul (HeTerg.

Csiray  empullaner, Csiey  eT(pglLGITEHET

S TG (LD Caireileir UL S L Bs @&
2 " LI L QUT&ET S@UIT. Qurmiupo GTEOVIT
QawsEms @D Caraler FULSI L m&eTUIg

BLaIg&EDS eT(H&HSILI(HLD.

ahs  Grailmoulan Gsrejl L ssh oMb
Men_ggrener INSASHESD Fnl Mg

Caitey erpgluaiiser shserg Csie] LSHs
MerLgsmer @HL e eu@mens’ udegssraid

sULmub er(psGauer(Hib.
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